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Note : This paper has two sections - Section A and 

Section B. Both these sections are compulsory. 

Remarks have been mentioned in the 

section I question along with marks. Write your 

answers in English / Hindi only. 

SECTION A 

1. Fill in the blanks. Choose the correct answers 
from the choices given below : 	 15x1=15 

(Spacers, Conductor, Insulation, kWh, kVAh, 
Gases, Cash, Insulator, Star, Air, Trivector, 
Temperature, Cross-arm, Preventive, ABT) 

(i) Dog is the trade name of 	 
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(ii) Due to fault inside the transformer, 
may be formed. 

(iii) 	 are provided to overcome the 
problem of clashing of LT conductors in the 
mid-span. 

(iv) 	 are provided in a pole to give 
mechanical support to multiple conductors. 

(v) Dry type transformers are 	cooled. 

(vi) 	 maintenance should be carried 
out for detecting deterioration of system 
components. 

(vii) Disc 	may be made of toughened 

(viii) The bus bar should be able to carry expected 
maximum load current without exceeding 
	limit. 

(ix) Secondary of transformer winding is 
generally connected in 

(x) The energy meter is the 	 register 
of the distribution utility. 

(xi) 	 compliant meters are known as 
Special Energy Meters. 

glass. 
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(xii) 	 meters are used for HT 
consumers. 

(xiii) Unit of energy is 	 

(xiv) Trivector meter can record 	 

(xv) 	 resistance is measured with the 
help of Megger. 

2. Write True (T) or False (F) for the statements 

given below : 	 10x1.10 

(i) Transformer is a static device. 

(ii) Concrete poles are more expensive than 
wooden poles. 

(iii) Electricity is often generated at 11 kV by 
generators. 

(iv) Defects in CT and PT circuitry results in 
technical losses. 

(v) Power transformers and distribution 
transformers differ in design. 

(vi) The rated voltage of 33 kV arrester is 
30 kV. 

(vii) Dissolved gas analysis is carried out in case 
of a circuit breaker. 

(viii) Static meter's accuracy class is typically 0.2. 

(ix) Silica gels are kept in transformer breather. 

(x) Low power factor contributes to high 
technical loss. 
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3. 	Match the following given in Column 'A' with 
Column 'B' : 	 5x1=5 

Column 'A' 	 Column 'B' 
(a) Circuit breaker (i) Load 
(b) Meter tampering (ii) Conductor 
(c) AAAC (iii) Load current 
(d) Diversity factor (iv) Charging current 
(e) Isolator (v) Magnet 
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SECTION B 

Answer any eight (8) questions from the 

following : 	
8x5=40 

4. What do you understand by transmission 

grid ? 

5. Differentiate between Power cable and 

Control cable. 

6. Write a brief note on Hot Line Maintenance. 

7. What short term measures can be taken for 

technical loss reduction ? 

8. List the important reasons for DTR failures. 

9. What are the uses of Instrument 

Transformers ? 

10. Why should single/two phasing in rural areas 

be prevented ? 

11. What precautions should be taken for storage 

of cables ? 
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12. Why is reactive compensation needed in 

distribution system ? How is it provided ? 

13. Write a brief note on Static Meter. 
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3f. .t.-002 : 	-TR 

FFR1 : 3 17172 	 aifirowv 31W : 70 

37F -1 N 317711 7i 02170-  d - 31PT 3712 SIP HI / 

G)a1 StiP" alfte g 	/ 317711/4W Zi72T Qui 	Alt ark 

	 ateq 7 3-e& 		 TrzIT I WIRT J-fff gel 

31.7-)011 	ARg7 

err 

1. itffiT2TA*t 1:0*tr-A I 41.4 fqR TR Idcbc.i.  
Tre z9T 11 	 : 	 15x1=15 

(Awi, -clkich (ch.-5cItt), I 	cJ, 	(r4frR), 

*.sex*-4Ccr . (kWh), 	 (kVAh), 44, 

Ur, -5-43R-6, TZTT, 
Tt-3.10,'14-47-  (Preventive), .41*.t.) 

(i) 3I1T (Dog),  	 ( 
t I 
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(ii) 	 * 	1!1.  (fault) Ala * chiful, 
	AR.  fiche!).  t I 

(iii) RitAq (A'N At ft) 4 R.F.t. cb-screA 4T 

	

eh( 	Trrrizrr 	Azif 
	, 7-47 rct) 	# 

(iv) (Multiple) ct).-Scrdi 	Zrft 
1-;"1(. 414 (pole) 4  	SETT

I  

(v) .7* Rh o-i  	co (ft%) 

(vi) iffiR1T 1.1dch.  (Components)* 3TITT4 	tic 

	

ciAit 	* 	aTaiur ON\  chcii .14T 
ft.R I 

(vii) , chci)f (toughened) N. 

	

44t 	ticbcfl # 1 

(viii) SFr 	 rr 	 R4-11 arIrrAff 

	

alitr*-811.  M1S 	*74 4-11 .q-rr-R 

(ix) **7--dt aTiEF 	 qraTI aTrirdIT tr{ 
	 141 .)cn t 1 

(x) .11. 	 -WdTur -fer-ett 	11-4R.( 
1 

(xi) 	trw chta aK1 	 d(* 	1:4-rF 	 

	

~flzt   t 
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(xii)     R 

	feral 	t 

(X111) 3)•311 *t 4411i (t0e), 	 

(xiv) TOTZT Ifra  	t I 

(xv) 	-51WWUT (resistance) 	1*R *1.  

	 TINT 7MT t I 

	

2. lt4 fkR TrR -2T-Al A A fie   T 3.11K god 

	FfuftcR : 	 ioxi=io 

(1) 	 t 	d'ichtui t I 

(11) 	 gC111 A 414e. (ci)sfild) 	13i14 

t I 

N•34, aNTR 	ct1 ART 11 kV TR 4-4T Al.  Alcfl  

t I 

(iv) Tit.t. 3 4.t. 	(Trittatr-Q-) 4 ttf 

	

04,441 eiWzri  	1({1 t 
(v) YI 	T4 3 	rackui vwAft 

	

6:4141 41-  i 	4 3TFTT-3rT 	t 

(vi) 33 kV 3111:U tt air*-ff (tr-a) airzcti 30 kV 

t I 

(vii) IgaTta (dissolved) ARfdk quI, tig)e. cht 

iv-K.) 4 RAI 7TaT t I 

(viii) 41-61:fra gitiZaT   (Mt I 

(ix) furff-*7 	T-4r$-Igh Act Tut TrdT 

(x) 1-4R klisth     if A RrTKR 

i -t 
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rgr-dr4"R : 	5x1=5 3. (gi 	ct;i0/4 `mil 

`w ' felst N.  
(a) (i) -1R (o)s) Til*zslit 
(b) (ii) 41st cb-Scitt 
(c) .7.Tf1. (iii)  ITR (0 s) 

d) V41,TUT (iv)  chRc•) rr-41-r 
(iNict4 'LIM) 

(e) aTrTEM-z-T (v)  
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VIM 

co-f (.4(/ 	*--e..9173-(8) 37ra-1 3-dT ef4q: 	8x5=40 

4. 4  6 A.  aTfq WIT tisoi 	? 

5. ITRK 	 *ka ai-dK TErtiz 

ttr-A-R I 

6. 01*-1 	tiK 40q -1 *z few 

7. oct>441 4T% *rr 	* r1 	Aq14 areTrafa zErrzr 

3pr4rq off fiche; ? 

8. t.t.aTR. Zuf 	 "grg—tai craul 	tkmil 

*1I 	I 

9. r4K1TZ (Instilment) TRITTliT dLiti Ai f ? 

10. 	 411 gpioq*IPT 	oelcit411 	-4;Eff 61*-11 

? 

11. -*W * ligr(ur * 	Aa--T11 Trgte-4 itcfl .1111 

? 
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12. fq-aur 	> ft-kr-€4 (Reactive) 41-rdckg 

31T474-* ?71.  4.R.) 51rii 	\AA ? 

13. Ted-* (Static) 1-11e.( 1:101.  4*z few 
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